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1. (a) Fill in the blanks : 1x5=5
(i) In marginal costing system, fixed cost is considered as ______ cost.
(i) Issue of equity shares is a cash flow from ___ activities.
(i) ____ budget is,a summary of all functional budgets.
(iv) Fixed cost per unit __ when volume of production increases.

(v) Margin of safety can be improved by reducing the cost.

(b) Write True or False : : 1x3=3

() Management Accounting is concerned with accounting information
that is useful to the management.

(i) The difference between actual cost and standard cost is known as
differential cost.

(iii) Cash Flow Statement is based upon accrual basis of accounting.



2. Write short notes on any four of the following :

(a)

(b)
(c)
(d)
(e)
1]

(@)

(b)

(@)

4x4=16
Tools of Management Accounting

Funds from Operation

Differential Costing

Cost-volume-profit Relationship

Budgetary Control

Performance Budgeting

“Management Accounting has been evolved to meet the need of

management.” Explain this statement. 14
Or

“Management Accounting is nothing more thanuthe use of financial

information for management purposes.” Explain, this statement and
clearly distinguish between Financial Accounting and Management
Accounting. 6+8=14

The following are the summaries of the Balance Sheets of EC Ltd. as on
31st December, 2014 and 31st December, 2015 :

Liabilities 31.12.2014 31.12.2015
¢ T
Share Capital 2,00,000 2,50,000
Reserve Fund 50,000 60,000
Profit & Loss A/c 30,500 30,600
Bank Loan 70,000 —
Creditors 1,55,000 1,40,200
Provision for Taxation 30,000 35,000
5,35,500 5,15,800
Assets 31.12.2014 31.12.2015
i ¢
Land and Buildings 2,00,000 1,90,000
Plant 1,50,000  1,74,000
Stock 1,00,000 74,000
Debtors 85,000 69,200
Cash 500 600
Bank — 8,000
5,35,500 5,15,800




- Additional Information -
() Depreciation on plant was & 14,000 in 2015
(i) Dividend of ¥ 20,000 was paid in 2015

(i) Income tax provision for the year was ¥ 25,000

(iv) A piece of land was sold in 2015 at cost

Prepare a statement showing sources and application of fund and a
schedule of changes in working capital for 2015. 14

Or

(b) () What do you mean by Cash Flow Statement? Explain the objects of
Cash Flow Statement. 7

(i) Distinguish between Cash Flow Statement and Funds Flow
Statement, 7

(a) The following are the details of profit.and. loss data relating to a
manufacturing business :

4
Sales 1,00,000
Cost of Goods Sold :
Variable 40,000
Fixed 10,000 50,000
Gross _Profit 50,000
Selling and Administrative Cost :
Variable 10,000
Fixed 5,000 15,000
Net Profit 35,000

(i) From the above data, calculate—
(1) profit-volume ratio;
(2) break-even point;
(3) profit for the sales volume of ¥1,60,000 and ¥ 70,000.

(i) Would it be profitable to reduce the selling price by 10% if it leads to s
an increase in sales by 30%? (2+3+4)+5—

Or

ment

: . . : e e
(b) Define marginal costing and discuss its contributions to the manag S o4

in decision-making.
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14

Salaries of the saleg department—¢ 10,000

Expenses of the sales department—¢ 3,000

Counter salesmen’s salaries and dearness allowance—® 12,000
Counter salesmen are allowed commission @ 2% on-their sales
Travelling salesmen are allowed commission and expénses

@ 10% and 5% on their sales respectively

The estimated sales during the period were as under:

(b) Explain the meaning and objectives of sales budget. Distinguish between
Sales Budget and Production Budget.

Area Counter Sales | Sales by travelling
v salesmen
3
I 1,60,000 20,000
Ji g 2,40,000 30,000
oar 2,80,000 40,000
Or

7+7=14
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1. (a) Fill in the blanks : 1x5=5

() Standard cost is a cost.

(i) P/V ratio exhibits the percentage of contribution included in

(i) Repayment of borrowing causes cash

(iv) _____ budget is a summary of all functional~budgets.

(v) Fixed cost per unit when volume of production increases.

(b) Choose the correct answer : 1x3=3

(i) Variable cost per unit remains samé / increases / decreases due to
increase in production.

(i) The practice of charging all costs to product is marginal costing /
absorption costing / standard costing.

(i) Standard costing is a method. / process / technique of Cost
Accounting.

2. Write short notes on any four of the following : 4x4=16
(a) Break-even Analysis
(b) Zero-base Budgéting
(c) Absorption Costing
(d) Cash Budget
(e) Advantages of Standard Costing
(fj Overhead Variances
3. (a) Discuss, in detail, the functions of Management Accounting. 11
Or

(b) Explain the role of a management accountant in a business enterprise. 11

2



4. (a) The following are the Summarized Balance Sheets of Dibru Trading Ltq
as on 31lst March, 2015 and 31st March, 2016 : .

Liabilities 31.03.2015 31.03.2016
¢ ¢
Equity Share Capital 2,00,000 2,40,000
14% Debentures 50,000 =
Securities Premium . 10,000
General Reserve 30,000 50,000
Profit & Loss A/c 48,000 68,000
Sundry Creditors 1,35,000 1,55,000
Proposed Dividend 20,000 24,000
Provision for Depreciation :
Plant and Machinery 1,40,000 1,50,000
Furniture 6,000 4,000

6,29,000 ¢ 7,01,000

Assets - 31.03.2015+,31.03.2016
T ¢

Land and Buildings 1,05,000 1,50,000
Plant and Machinery

(at cost) 2,90,000 3,20,000

Furniture (at cost) 9,000 10,000

Inventories 1,30,000 1,05,000

Sundry Debtors 80,000 90,000

Cash 15,000 26,000

6,29,000 7,01,000

Additional Information :

(i) Furniture which cost ¥ 5,000, written down value being ¥ 1,000, was
sold in 2015-16 for ¥2,000

(i) Plant and Machinery, which cost ¥20,000 and in respect of which
& 13,000 had been written off as depreciation, was sold in 2015-16

for ¥ 3,000
(iii) The dividend declared in 2014-15 was paid during 2015-16

From the above particulars, you are required to prepare—

(1) a statement of changes in working capital during 2015-16;

(2) Funds Flow Statement for 2015-16.

12



() Purchase of Boods on credit
() Payment of Previous year’s dividend
(i) Sale of furniture on credit
((v) Issue of Preference share
(v) Sale of olq assets

(V) Payment of bills payable

5. (@) From the data given below, calculate—
(i) contribution;
(i) profit-volume ratio;

(i) break-even point;

(iv) sales to earn a profit of &3,00,000 : 2+3+3+3=11

Fixed cost—¥ 1,80,000
Variable cost per unit :
Direct material-T 6
Direct labour—&3
Direct overheads—100% of direct labour
Selling. price per unit—¢ 15
Or

(b) (i) State any three similarities between marginal costing and differential
costing.

(i) Describe the major areas of application of marginal costing system.
What is the necessity of analysis of marginal cost? 8

6. (@) What do you understand by the terms [PrRdgetRnt bR gty cont;f;ll’?
1 .

Discuss the benefits derived from an efficient system of budgetary C0(2+3)+6=1 )



Oor

(b) A company is currently working at 50% capacity and produces
10000 units. Estimate the profit of the company when it works at 60%

and 70% capacity.

11
At 60% capacity, the raw material cost increases by 2% and selling price
falls by 3%.
At 70% capacity, the raw material cost increases by 4% and selling price
falls by 5%.
At 50% capacity working, the product cost is ¥ 180 per unit and the
selling price is ¥ 200 per unit.
The unit cost of ¥ 180 is made up as follows :
o
Raw material 100
Wages 30
Factory overhead (40% fixed) 20
Administrative overhead (50% fixed) 30
180
7. (a) From the particulars given below, calculate—
(i) material price variance;
(i) material usage variance;
(iij) material mix variance : 3+3+5=11
Standard Actual
Materials Quantity Unit price Total Quantity Unit price Total
(kg) ¢ ¢ (kg) ¢ v
A 40 10 400 20 35 700
20 20 400 10 20 200
e 20 40 800 30 30 900
Or
jance’ and variance analysis’
(b)) What do you understand by the terms ‘var (2+3)+6=11

Discuss the import

ance of variance analysis.
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